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IS.  I$ A = [a, b]  L&I  AxA  #Ou’o!@l

1) ka,  b),  (b,  al) 2) b,  a), (a. b).  (b,  a), (b,  b)]

3) [(a,  ah (b,  b)) 4) Ita. b))

hlbll l o  &I 2 )

mqpra Ax A & tlaol~~J@&l  (x, y) ;JMU” 45  x thWl%n’Il&l  A LLR: y

t0uau75nuo4 A RarJ

6J;Ju”U  iJ!kh Ax A = ((a, a), (a, b), (b, a), (b, b)]

16. $1 A = II.  2, 31,  B = [a, b, c, d) tt&l&h8U~Ji&417n  B \LkiJ  A

1)  [(I,  ah (2,  cl),  (3,  b)j 2) [(l,  a),  (2, b), (2, c-0)

3) ((a,  11,  (c,  l), (b, 3)) 4) ka. 0, (b, 2),  (b, 3)j

fhbU  ii0 &I 9)

t?lqPSa LWfl:h IIlfI [(a, l), (c, l), (b, 3)) l.fU  L~IWLI’~  a, c, b dlJ??thmJl%I

llOJ B UR: I, 3 dlJt?LhWl%l’ilQJ  A UflfKllflih  iiJ~‘8hV%Jl%l  a, c

VilJT%J~n’YLWJl%l  1 L&lJQi~t&l?  LLI: b n”a’Y~ih  3 L%JJih%l?  iJ

fIdld&il  ((a, l), (c, l), (b, 3)]  tfh?J?%UWl  B h!$J  A

17. IfiG = ((e, b)., (i, d), (a, e), (0,  x), (u,  n), (a, m)] ‘JJ#lhUUllDJ  G

1) Ia, e, i, 0,  u1 2) [b,  d, e, m, n, x1

3) b, b,  d,  e, ij 4) [a, m, n, 0, u,  x]

fholJ ta Co 1)

rnqwa W-hJUllElJ  G ?I~XWI~IDJIJWW~I  x ~JMFi’If.l  4,  (x, y) D$h 0

flJiJu”w  qln G = [(e,  b), (i,  d), (a, e), (0, x), (u, n), (a, m))

hJUllOJ G = (e, i, a, o, u] = (a, e, i, o, u)

18. ?Jn’l%hIoJ  G h&l  17

1) [a, e, i, 0,  uj 2) [b,  d, e, m,  n.  xl
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3) [a, b,  d,  e, i] 4) la, m, n, 0,  u, 4

fhmlJ  iie  VYb 2 )

rn6jPta ?In~IhKtJ  G ih lWm1~Y~3~ldl  y ~%vmlu  & (x, y)  O(hi  G

&tfu~dfk%<l  %JlloJ  G = [b,  d, e, x, n, m)

19. oinu’o 17 w%~wuTh  u’obqn

1) xGo 2 ) n G u

3) aGn 4) aGe

fhlau dt,  $8  4 )

nlqwa ~VGIE~I!  (a, e) EI$U d iJ~&h a G e

20. fhHW@Mll~lJ  binary operation ~fi&~

* x Y z

X X Y z

E!!zzEl

Y Y z X

2 2 X Y

oiobJi%~lnpn

1) (x * y) * x = z 2) (x  * Y) * (z  * Y) = Y

3) (y * z)  * y = x 4) (z  * x)  * (y * x)  = y

fhmu ii0 u’fl 2 )

rnspa  vm757&7~~m  L57Vidl

x * y = y tt0: (z*y) = x

6&i (x*y)  *  (z*y)  =  y*x

5m917’214 y*x = y

6&i (x*Y)*(~+Y)  = Y iqnh

1) x(-y) = -xy 2)x>O*  -x-co

3 )  (x+y)z =  x(y+z) 4 )  x  < y  * --x  > - Y

filmiU  db &I 8)
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6wipa  L3infwh  (x+ Y)Z  =  xz  +  yz

unr x(y+z)  = xy i xz

&&.4 (x+y)z  = x(y+z) iJw35J

22. 61 a < b U&it  c < 0 L&J u"ohdU5l~JLWQ

I) a < bc

3) ac < bc

d1mmJ tie &I 4)

2) ac < b

4) bc < ac

cwqwa  mn t + c = t x i = 2
bc

24. ilH% x, y h.hilU%&Jbl 9 +k~bl!hil%WD

i) 1x1 = - 1x1 2) 1x1 = x

3) 1x1 = I--xl 4) Ix+ Yl = 1x1 + IYI

dlmJ de, u'e 3)

. . 1x1  I-XXJ=

nsiii~  2) iii x < 0

L31wh 1x1 = -x

UFiZ I-xj = -x



2 0

* 1x1  = (--XI. .
sln&wJnrtii  iJRpl~6~1

1x1 = I--XI

2 5 .  IsiS  =  [XIX  E R  LW x  <  -2651 L&d S i%I  l!aJh

1) I - 2 6 5 .  00) 2) (- 265, Q))

3(  m,-265) 4 )  (--03,  -2651

fbmJ we  40  3 )

qwa LdDJlll”  (XIX  E R tm:: x < bj aiu75nrQrrprlrnurm~~a~  c-m,  (2)

;iju”u (XIX  E R  LtRt  x  <  -2651 iJtQuuttnu%SaudaJ  (- 00,  -265)

2 6 .  tfi A  =  (xl  l x - 2 1  < 151  t&a  A  i% tTl@l?h

I) 1x1-  15 < x < 15) 2) jxl-  13 < x < 173

3) :x1-  17 < x < 171 4) [XI  - 15 < x < 17;

BIlRmJ  6B  c 2 )

rnqwa  mnntpjmhQpGi4~

61  /xl  < a  t&a  U’ouWh  - a  < x  < a ilH%  a  > 0

~J& 9in  Ix-21  <  1 5  iJ!h

- I3 < x < 17

‘ii-J&4  iJl6-h A  =  1x1  1x-21  < 15)  &I [xl  - 1 3  < x < 171

27. G  = ( s In E N]  lJE!L!tliW?lJ~J~@llM3J  G &I

1) 0 2) f

3) 1 4) G IGhmJtV9ldlJ~JqR

h.lJ 40  48 2)

~wpfi 1ln  G = [z\n E N] Liht11ttnUn 8aU I, 2,3,4, . . . khfCKl 7
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28. H = [x/x  E R LtR:.  x < -5) i$UM.i.iQfhJ~~

1) 1.u.b.  GO  -5 ttdu’i  g.1.b. 2) g.1.b.  CO  -5 ttdu’ij 1.u.b

3) 1.u.b.  Dfjh  H 4) g.1.b.  fI$u  H

hml  db rb  1 )

29. %A  = (0,3jtWB  =(-1,3)WMlA-B

1) I J 2) I31

3) (-l,Ol 4) (0. 3)

dwlonr tib u"a 2)

lWy@i  %ln  i4  = (0, 31  P:%-h  A = lx  E RIO  < x 6 3)

ttR:  B = (- 1, 3) Q~~‘ii%  B = [x  E R/  - 1 < x < 3;

9Jol9tiuunlwtta~J~n~
,A

- 2 - I 0 Ig2 3 4 5

&&4 A - B  =  {xE R/xE  .4ttR’:~+Bj
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hml  ihI  &I  1 )

awpa mn(3,  1,2) +  4 X  = 5~1,  0 ,  -I)

= (5, 0, -5)

4x = (5, 0, -5) - (3, 1, 2)

=  (5-3,0-l,  - 5 - 2 )

= (2, -I, -7)

x = $2, - 1, -7)

3 2 . 61 ij = (I, 2, 3, 4). <Q  = (4. 7, 5, - 3) LUhWMl tj

1)  (3, 5, 2, -7) 2) (-3, -5, -2, 7)

3) (5. 9, 8,  -7) 4) (5, 9, 8,  1)
ilmJ i&l u'e 4)

1qsJa i1ingm @ = cj - 6

tj = FQ + P

= (4, 7, 5, -3) + (1, 2, 3,4)

= (5, 9, 8, 1)

3 3 . IT?  @ = (21, 3, - 15, - 12) w~iolxwhiiQlmYulunuy  P

1) (7, 1,  5, 4) 2) (-7, -1, 5, 4)
3) (-21, 3, - 15, - 12) 4) (-7, -1, 3, 4)
AlmJ  ;a u’s  2 )

mp Lwslcil  (21,3,  - 1 5 ,  - 1 2 )  =  - 3 ( - 7 ,  - 1 ,  5,4)

H%J p = - 3 ( - 7 ,  - 1 ,  5,4)
?l~Wh rmw&ibwh  7 ,  -1, 5 ,  4 )  uuiu&rmd(- P’ (hd

t%-l~lJmIJnyuu’7u)



.
*

2 3

I,Q = P-26 2) ij  = 2P  - ii

= d16 + (1 -2(  - 1) (x) + x2 + O2

= J17 + 2x + x2

x2+2x+17 2 5=

x2+2x-8 =  0

( x + 4 ) ( x - 2 )  =  0

@K&A x = 2,-4

3 6 . ?jnl~clnoin^trr~slosl~tl~;r  A(2, 0, 3).  B(5, 6, 3) hihlFi?U 2 : 1

1)  (4,  4, 3) 2) (3, 2,  4)

3) ($  2,2) 4) (1,  2,  0)

fhmJ  tie $0  1 )

lwpl Wrlfp3b%l  61  C Lhy~tt~~ttW~sJ  AB fJondut%31fiaw  a : b



c = &(2.0,3)  + &5,6,3)



2 5

&A
1 0 2

41. = LLR:  B
13 - 4 1

3 A  - 2 B  6% W&-Pl%l

A =

3A =

B =

2B =

0 -1 1=I 1 a&d
~3  45

i 3 - 1 4

2) 2 1 21
L 1 - 1 3

4) 9 0 61
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&&A 3A-2B  = [: -1:  11 - [“, ,-‘,  l’di

42. 61 A =

1 44 lj

n’lflSV  8&l  iib
1 2

mq”8  A B  =
2 0 -

1

1 I i 0 2 1 0 2 1  I

- 4 - 5

4) / 2 1 1

43. 61 A =

ttA: A B  =  C  tth cj2  +iltn’l~~

1) 0

3)  2

fi1mlJ 88 40 2 )

2) 1

4) 3
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44. 61 A n’u B dWaJVl~n&lulfI  III x n LW C LhUJVl~nlhlul~  n x r LLhpW.JU?

u’oldlMQ5J

1 )  ( A + B ) + C  =  A+(B+C) 2) (AB)C = A(BC)

3) A(B+C) =:  AB+AC 4) (A+B)C  = AC+BC

ilmJ Wa  u’e  4 )

wpa ~mpuwi.  mJtudnd

- 3 - 4

2) [ - 2 - 31
4 ) [ 3 - 4

- 2 3 1

t&i A-’  zz

I& a,, = 3, a,, 4, a2,  = 2, az2 = 3

- 4

.‘. A-’

1  3

= [(3X3)-(2X4) - 2 3 1
3 -4

= r 1-2 3

2 - 2
46. fiiQlnoiu^nuuw’tloJL~~~n~ [ 1 iihn'lb

4 - 3

1)  0 2) 1

3) 2 4) 3
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61mu ikl &I 3)
alI aI2

aosqwa  mn
I I

= a11a22  - a+.:
azl a22

1Uhi a,, = 2, alL  = -2, +, = .i,  a22  = -3

@Tdh / 2 -21 = (2)(-3; - (4)(-2)
4 -31

= -6i-8 = 2

47. 9in Cramer’s rule ihW~~i7p&6%

x+y-z = 1

2x-3y  = 2

4y+32  = 0

1) -23 2) -25

1 1 -1

D = 2-3 0

0 4 3

= (I)(--3X3)  + (1PNO)  + (- 1)(4)(2)  - (W-3)(-  1)

- (4)(O)(1) - (3)(l)(2)

= -9+0-8-O-O-6

= -23

48. mnlenu’u’o 47 ouinnaivh x ikhi+i~~fi~l~

1 )  - 1 2) 1

3) 2 4) -2



29



l&y = --L
3! l! I!



3 1

55. &~¶h~%l&lQJ  azb4 OlfhllSn3tQlU  (3a-2b)6  &II fhbl

1) 3210 2) 2160

3) 1380 4) 920

pi1mu  &I  u’s  2 )

b?lPjHa LYlQ8.J  azb4  dJ~~~l""l7"SSIlU  (3a-2b)6  $0 & (3a)*(  - 2b)4. .

hl ,&(3a)z(-2b)4  = ~~~~~j(9aZ)(16b4). .



3 2



3) ;: 4) 1

d19leu  de ccl 3)

anym a7t-t WUF)  = P(E) + P(F) - P(EflF)

P(EfIF)  =  P(E)  +  P(F)  - P ( E U  F )

= ;+;-;

4+3-5=-
8

1
4

LLRZ P(EnF) =  1  - P(EnF)



1 5
&&4 P(A/B) 100=

25
= ~ 15 = - 3

2 5 5



1) 0 2) m
3) 1 4) 5
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?hfmJ  %I  Ce 4 )

mpzi .: 81 x # 3 MY?

x*-x-6 = (x--)(x+2) = x+2
x-3 = x - 3

:. lim x2-x-6
r-3 x - 3 = 9x+2

= 3+2

,im  8x4-3x2-2x+5
x-0)  4x4  + 3x3  -2x2  + 6

=. limr-m

*-;~4+~
X’

&+-2+6
x2 x4

8-o-0+0
= 4-o-0+0

= 2

66. 81 f(x) = 2x3+3x2-6x+ 5 U&J  f’(x) &I &f(x) dCilthn"YilWlU'l~

1) 6x2+6x-6 2) 2x2+3x-6

3) 6x4  +6x5  -6x2 4) 2x’ + 3x2-6x

d1nalJ  iis co 1 )

wp 937 f ( x )  =  2x3+3x*-6x+5

:. &f(x) = $(2x3+  3x2-6x+  5)

= 2-$,3 + 3$ - fxx  + $z
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= 2(3x’)  + 3(2x) - 6(l)  +  0

= 6x2+6x-6

, 67. 51 f(x) = (2x-3) (3x2+2)  LLh  f’(x) McdQ &f(x) i%L~1~lJ~lU?U~~

I) 6x’

3) 12x2-8x  t5

iblenr  la &I 4)

awgwa  am f(x) =

2) 6x

4) 18x2- 18x+4

(2x - 3) (3x2  + 2)

flxf(x) = $((2x  - 3) (3x2  + 2))

(2x - 3) $(3x’+  2) + (3x2  + 2&(Zx - 3)

(2x-3) (6x+0)  + (3x*+2)  (2-O)

12x2-18x+6x2+4

18x2-  18x+4

68. $1”7  f(X) = X2 +8  LLaz  g(X) = X*-5  L&d  &maiubI~n&~

1) f’(x) > g’(x) 2) f’(x) < g’(x)

3) f’(x) = g’(x) 4) f’(x) #  g’(x)

ilrnml  70 &I 3)

awqera  9in f(x) := x2-8

f’(x) = 2x-o = 2x

k-wm g ( x )  = x2-5

g’(x) = 2x-o = 2x

&&4 f’(x) = g’(x)

6 9 . )(3x’-2x)dx &hiliihil~3

1) 6x-2+C: 2) x3-x2+c

3) 3x3 - 2x2  + c 4) px+c

dlmJ  Wa 4e 2 )

6wq~n  Wn 1(3x*-2x)dx  = ,/3xZdx  - j2xdx
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= 3]x2dx  - 21x  dx

= 3(q)  -2(C)  +c

= x3-x2+c

&& {(3x* - 2 x ) d x  =  x3-x’+C

7 0 .  ]:x’dx  idlln'lihil~3

= (3Y (2)3---
3 3

27 8= - - -
3 3

. =. . /;x’dx y


